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BIEIER: NO
48 5H 68 718 88 9H 108 11H 128 1A 2R 3H A5
EIAER AAIE B 28 31 30 29 31 30 29 30 31 29 28 31 357
I 2 B RS 690 740 714 713 739 715 712 714 739 713 668 738 8595
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.002 0.002 0.002 0.001 0.001
1B E D &= fE(ppm) 0.003 0.005 0.003 0.005 0.006 0.009 0.008 0.028 0.029 0.023 0.016 0.010 0.029)
B FH){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.005 0.005 0.006 0.005 0.002 0.006
#LLAERE & B AHAIE B 28 31 26 29 31 30 29 30 31 29 28 31 353
I 2 B RS 690 738 640 710 734 713 713 714 739 713 663 737 8504
*F #91E(ppm) 0.001 0.000 0.001 0.000 0.002 0.002 0.001 0.002 0.003 0.004 0.004 0.004 0.002)
1B E D &= fE(ppm) 0.008 0.004 0.005 0.004 0.014 0.009 0.010 0.029 0.042 0.047 0.037 0.026 0.047
B FH){E D &5 fE(ppm) 0.002 0.002 0.002 0.002 0.006 0.006 0.002 0.008 0.009 0.010 0.009 0.008 0.010)
KiR&t AAIE B 28 31 30 29 31 30 29 30 31 29 28 26 352
I 2 B RS 691 737 712 711 736 716 711 714 740 714 668 651 8501
*F #591E(ppm) 0.000 0.000 0.001 0.002 0.001 0.000 0.001 0.002 0.002 0.004 0.003 0.001 0.001
1 B 1 E D = = (B (ppm) 0.005 0.008 0.015 0.027 0.004 0.004 0.010 0.024 0.027 0.060 0.045 0.020 0.060)
B F#){E D x5 fE(ppm) 0.002 0.003 0.004 0.010 0.002 0.002 0.002 0.005 0.010 0.014 0.014 0.004 0.014
RHEEH AHAIE B 28 31 29 29 31 30 29 30 31 29 28 31 356
I 2 B RS 689 740 707 716 737 714 713 714 736 714 668 738 8586
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.002 0.001 0.002 0.001 0.001 0.001
1B E D &= fE(ppm) 0.005 0.003 0.005 0.011 0.005 0.005 0.008 0.018 0.013 0.024 0.021 0.009 0.024
B F#){E D &5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.003 0.006 0.004 0.007 0.005 0.002 0.007
HRER AAIE B 28 31 30 29 31 27 8 30 31 29 10 31 315
I B RS 695 739 714 713 733 651 201 712 732 712 263 737 7602
*F #91E(ppm) 0.001 0.001 0.002 0.002 0.002 0.002 0.000 0.000 0.000 0.000 0.000 0.000 0.001
1B E D &= fE(ppm) 0.003 0.014 0.015 0.013 0.013 0.014 0.002 0.006 0.006 0.021 0.002 0.003 0.021
B F#){E D x5 fE(ppm) 0.001 0.002 0.006 0.006 0.005 0.003 0.000 0.001 0.001 0.003 0.000 0.000 0.006
HEXs R AAIE B 22 31 30 29 31 30 29 30 31 29 28 29 349
I 2 B RS 547 739 714 714 737 714 711 711 735 712 666 699 8399
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.000 0.000)
1 B E D = =1 (B (ppm) 0.005 0.005 0.004 0.004 0.002 0.013 0.008 0.023 0.012 0.019 0.019 0.012 0.023
B F#){E D x5 fE(ppm) 0.000 0.001 0.001 0.000 0.000 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.002
AR AAIE B 26 31 30 29 31 30 29 30 31 29 28 29 353
I 2 B RS 674 738 714 712 736 714 713 714 739 715 666 701 8536
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000]
1B E D &= fE(ppm) 0.012 0.003 0.002 0.003 0.002 0.001 0.015 0.004 0.005 0.008 0.004 0.005 0.015)
B F#){E D x5 fE(ppm) 0.001 0.000 0.000 0.001 0.000 0.000 0.001 0.000 0.000 0.001 0.000 0.001 0.001
el AAIE B 28 31 30 29 31 30 29 30 31 29 23 321
8 7E B R 695 739 714 715 733 712 712 714 739 715 557 7745
*F #591E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1 B 1 E D = = (B (ppm) 0.008 0.003 0.002 0.002 0.004 0.002 0.011 0.015 0.016 0.018 0.015 0.018
B F#){E D x5 fE(ppm) 0.001 0.000 0.000 0.000 0.001 0.000 0.001 0.002 0.002 0.003 0.002 0.003
E3E] AAIE B 26 30 30 29 31 30 29 30 31 29 28 31 354
I 2 B RS 647 727 714 717 737 714 717 714 738 713 666 738 8542
*F #91E(ppm) 0.000 0.000 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
1 B 1 E D = = (B (ppm) 0.002 0.003 0.006 0.004 0.005 0.011 0.006 0.012 0.009 0.025 0.015 0.007 0.025
B F#){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.002 0.002 0.006 0.002 0.002 0.006
ES ke ERET AHAIE B 29 30 30 29 31 30 29 30 31 29 28 31 357
I 2 B RS 698 727 714 713 734 711 710 711 739 714 666 737 8574
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.001 0.001 0.000 0.000)
1B E D &= fE(ppm) 0.003 0.004 0.003 0.004 0.004 0.004 0.013 0.023 0.024 0.038 0.060 0.019 0.060)
B FH){E D x5 fE(ppm) 0.000 0.000 0.000 0.001 0.000 0.000 0.002 0.007 0.005 0.008 0.005 0.002 0.008
#ETH AHAIE B 28 31 30 29 31 30 29 30 31 29 21 31 350
I 2 B RS 685 739 713 714 737 715 711 712 738 713 499 735 8411
*F #591E(ppm) 0.001 0.002 0.000 0.001 0.001 0.000 0.001 0.002 0.002 0.003 0.003 0.002 0.002)
1 B 1 I D B 1= (B (ppm) 0.004 0.012 0.003 0.008 0.006 0.003 0.021 0.026 0.045 0.041 0.031 0.021 0.045
HEBE DR = 1B (ppm) 0.001 0.006 0.001 0.002 0.004 0.002 0.002 0.009 0.007 0.008 0.006 0.004 0.009)




